1.2 9 10
Loz +257 4+ 975 + 10

142
:(1+2+---+9+10)+{( Sk

:55+%=55+5:60

---+9+10)}
11




Ad g zpFet 3 Ao 250 ¥ St= A7 7 FHE AFAL, 5000 Y=
Woldy 450 €& ALSESR WU dd §F A2 9] ghe

AurA U 7F?
> E: 2]

> He 3509

{5000 — (250 x 7 + 450)} = 8
= {5000 — (1750 + 450)} = 8
= (5000 — 2200) + 8 = 2800 = 8 = 350 ()




7x{(8-4)x9-9)

>
> Heh: 189

() PrasAddMs ()= WA ALk, B2
{ )ee AL

7x{(8-4)x9-9}

=7x{4x9-9}

— 7% (36 - 9)

=T7x27

=189




[ [oroll ggre 2 A dE AEoAle,

=957

4)

T1-7Tx(246)+4
=71-(7x8=+4)
=71- (]
=71-[ ]

o

56

v V. v Vv
02
L

0x
1L

14

B

SAL AL ol Aty
ol 237} 3ot Fo et 3l

TL-7Tx(2+6)+4

=71-(7x8+4)
=71 - (56 = 4)
=71-14

=57




VRS

©

L_l

© D

lT

© 7_H

S~———" —

+ +

— Ne)

T o=

+ g

~ 8_1 )

l_lll(\
—

™ +7_1

~— Ne) D~

I I Il

o |5

o

I_l

o |5

o

I_l

o |5

[N




